D RTIPATE

N E15 20211 H3H
4 SRERRELTA Vs 3 MU
H= A=
TRBRBTETRA A= P TRBRBELI A
Tt = W - 5 mEE
75 RABHIE 7o A M EE 7 ENE
x| R | BR | me | aR|wte| B | w2 | aw|wee| o | T
19 | ZRFG [E7] 4S -1 -50 1t 3NT +1 430 10
20 | \WH [£3] 6Sx -1 -200 [£3] 4S +1 650 13
21 | Fib Jra] 5Hx -2 300 [£3] 4S +1 650 8
22 | ;g R 6C = 1370 x 6NT -1 100 16
23 | WH Jra] 3NT = -600 x 3NT = -600
24 | NI [ris] 3NT -1 50 [rif] 3NT = -400 10
DATUMZit T
iRBRBRLIRA ;s V. 2] 10 | a7
X5/ RRPHIES o RC=/ETR o Ait 10 | 47
R/l o HR/ 2SR o V.P. 20




D RTIPATE

a4k %25 202141 /3H
1 FYKERA VS 2 IR
= =
SRYIHEE A == == SRYIHEE A
it: FE% R SEH it: 8838 R SKEER
Fa: Z=BEED 7a: Fink [ fa: EERE
x| R | BR | me | aR|wte| B | w2 | aw|wee| o | T
19 | R/FG] 4t | 3NT | = 400 E3] 4S = 420 1
20 | \WH [£3] 4S +1 650 [ri] 5Dx -1 200 10
21 | Fib Jra] S5Hx -1 100 [£3] 4S = 620 11
22 | ;g R 3NT +3 -690 x 6NT = -1440 13
23 | WH R 3NT = -600 R 3NT = -600
24 | NI [ris] 3NT = -400 x 3NT = -400
DATUM&it iFEE
RYIERA A FAFThE r: 5 ] 23 | 12
FELR/ZEEED] O BANR /B R o it 23 | 12
SRR/ EER 0o S/ Tk o V.P. 14.59 | 5.41




